Module 4 Quiz Name Store

1. AR coating is used when you cannot get Crizal coating on a lens.

2. The polarized lens is made up of 3 parts, they are / and

3. The polarized lens is good for.
A. Fishing
B. Outdoor
C. Driving
D. All of the above

4. ltis notagoodideato add an AR coating to a Transitions lens.
A.True

B. False

5. What is the warranty on the Crizal Avance’ lens with scotch guard.

6. This Transition lens type has a light tint indoors.
A. Transitions VI
B. Transitions 3
C. Transitions XTRActive
D. Transitions dark

7. With Transitions lenses the dye is activated by which is why they do not get dark in a
car.

8. Why is it important to have AR coating on a High-index material?

9. A polarized lens comes pre-tinted; attempting to darken a polarized lens could cause the lens to.
A. Craze on the edges
B. Delaminate
C. explode



Answers:

1. Ultra

2. Front piece, polarized filter and back piece.

3. D (all of the above)

4. B (False)

5. 1vyear 2 time replacement against scratches

6. C. (Transitions XTRActive)

7. UV

8. Those materials are denser and the AR allows more light and better vision.
9. B. (delaminate)



